#HRBILEAN  ERHHRBUBER

F—ESHEHR (BT TREMIARR)
ENBMUEEINGTES

(B) ¥M4F4H1H (B) HM5F3H318

(BT : M)
BENE FE(A) SRE(B) ER(A)-(B) "=

SBIRA 17, 044, 000 17, 341, 800 -297, 800
BHBINA 3,168, 000 4,309, 923 -1, 141,923
EERERISIA 40, 632, 000 40, 627, 000 5, 000
ZEESINA 157, 556, 000 160, 177, 602 -2, 621, 602
SINE=TON 126, 000 68, 500 57,500
FRINA 46, 237,000 48, 635, 380 -2, 398, 380

Y EHEEON 10, 381, 000 12, 663, 000 -2, 282,000

A | ERBmELIRA 423,208, 000 414,949,715 8, 258, 285
BRESHEBRINA 4,356, 000 5,221, 559 -865, 559

=| |[EEELY-CBEZRA 42,124,000 42,548,720 -424, 720
2| | SHASERNSSINA 35,000 8,409 26, 591
B e e R S FERBULA 0 0
%f ZORDURA 10, 965, 000 11, 651, 495 -686, 495
£ | [EEEwRAG (1) 755, 832, 000 758, 203, 103 -2,371,103
3| [AFE=E 505, 688, 000 500, 324, 866 5,363, 134
W |mEsw 201, 340, 000 185, 132, 101 16, 207, 899
2| | mmawm 52, 898, 000 42,812,126 10, 085, 874
MEHEERET 4,752, 000 4,750, 156 1,844
EhE=SaT 300, 000 60, 000 240, 000

o [IBERS 2PN 7,722,000 7,721, 400 600
BRI 5, 655, 000 3,775,804 1,879, 196
EiReH 4,826, 000 4,652, 000 174,000
ZOMOH 61, 000 59, 998 1,002
FEEETMHES LB E 0 528, 000 528, 000
EEEBHTHE (2) 783, 242, 000 749, 816, 451 33, 425, 549
BEEHELNTER (3) = (1) - (2) -27, 410, 000 8, 386, 652 -35, 796, 652
| | MEREEEEmE IR A 0 0
] ”;Z MEREHS BRI 0 800, 000 -800, 000
B [mmmzmact (4) 0 800, 000 -800, 000
f EEEEIES 17, 669, 000 17, 481,037 187,963
& | [P R -2 EB RS 4,052, 000 4,051, 200 800
3| |sEREEmssdEt (5) 21,721,000 21,532, 237 188,763
R |smmmeaansaE (6) = (4) — (5) -21, 721,000 -20, 732, 237 -988, 763
HEETAEIRERIA 0 0

2 | yy | BRI 3,147, 000 3,146,190 810
DI |zt sEBICEBINA 17, 267, 000 17, 265, 420 1,580
4:;] ZOMOFEEUIAGT (7) 20, 414, 000 20, 411, 610 2,390
| |Emadezn 0 0
B |mEamEEsives 10, 000 10, 000 0
% |memraEsH 887, 000 886, 384 616
g | EmEs 29, 225, 000 29, 142, 360 82, 640
| [EotoEBIcaBsI® 20, 078, 000 20, 018, 660 59, 340
% | |eottoEBZEEt (8) 50, 200, 000 50, 057, 404 142, 596
ZOMOEBESINTEE (9) = (7) — (8) -29, 786, 000 29, 645, 794 -140, 206
FHEZH (10) 1,100, 000 1,100, 000
LHIESINTERESE (11) = (3) + (6) + (9) — (10) -80, 017, 000 41,991,379 -38, 025, 621
BERIAERRES (12) 394, 664, 000 394, 662, 145 1,855
MERSTIERES (11) + (12) 314, 647,000 352, 670, 766 -38, 023, 766
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